th a=1,00;b=0,50

=ct =ac®w

cH

N
]
c

8

=
I
£
=
S

=
0
=
IS
=

2
I=
()

£
=

=
S}
O




th a=1,00;b=0,50

=ct =ac®w

cH

N
]
c

8

=
I
£
=
S

=
0
=
IS
=

2
=
()

£
=

=
S}
O




=1,00;b=0,50

th a

w o w0
Ruilo ofog
5666 oo

=ct =ac®w

cH

N
]
c

8

=
I
£
=
S

=
0
=
IS
=

2
I=
()

£
=

=
S}
O




=1,00;b=0,50

th a

0 ww
Ruono oo
8668 -icoo

=ct =ac®w

cH

N
]
c

8

=
I
£
=
S

=
0
=
IS
=

2
=
()

£
=

=
S}
O




=1,00;b=0,50

th a

0w o
2R0o oollg
SS66 -i-ico

=ct =ac®w

c*

N
]
c

8

=
I
£
=
S

=
0
=
IS
=

2

5
()

£
=

K=}
S}

O




=1,00;b=0,50

th a

0. _w©_w
wilno Roilo
5668 S-ico

=ct =ac®w

c*

N
]
c

8

=
I
£
=
S

=
0
=
IS
=

2

5
()

£
=

K=}
S}

O




